YLJ,%ﬁIJﬁ
SINGLE-P

9= Features :
« [ECIRERSMIIEZ KR + ICE standard design.
« AANEEIMNEFIZIT + High quality of starting performance.
- AFEDNIMETHEYEREERNGS + Apply to fan/blower, pump, compressor and small machine.
o MAZERN. RIEFEEEF » Mounting: B3,B14,B34,B5,B35.

B | HEE BE  ARERER R | B5ER IEREE BPER T =8
RPM  FRAME VOLTAGE FREQ | INS. IP CODE WGT LB/KG

YLJ7114 0.34/0.25 | 1400 71 220 2.05 50 F 1.0 55 CONT 13.2/6.0
YLJ7112 0.5/0.37 2800 | 71 220 2.47 50 F 1.0 55 CONT 13.2/6.0
YLJ7124 0.5/0.37 1400 @ 71 220 3.09 50 F 1.0 55 CONT 15.4/7.0
YLJ7122 0.75/0.55 | 2800 | 71 220 3.40 50 F 1.0 55 CONT 15.4/7.0
YLJ8014 0.75/0.55 | 1420 | 80 220 3.60 50 F 1.0 55 CONT 21.4/9.7
YLJ8012 1/0.75 2830 | 80 220 4.76 50 F 1.0 55 CONT 20.0/9.1
YLJ8024 1/0.75 1420 80 220 4.50 50 F 1.0 55 CONT 22.5/10.2
YLJ8022 15/11 2830 @ 80 220 6.66 50 F 1.0 55 CONT 23.1/105
YLJOOL4 15/11 1420 | 90L 220 6.51 50 F 1.0 55 CONT 34.2/15.5
YLJOOL2 2/15 2850 | 90L 220 8.60 50 F 1.0 55 CONT 36.2/164
YLJOOLB4 2/1.5 1420 | 90LB 220 8.85 50 F 1.0 55 CONT 38.6/17.5
YLJOOLB2 3/2.2 2830 | 90LB 220 12.53 50 F 1.0 55 CONT 38.6/17.5

Tel : +86-21-58421226

Gw GW ELECTRIC (SHANGHAI) CO., LTD. m Fax : +86-21-63120289
5'"“'"5' ® http: www.gwindustry.com

E-mail: gw@gwindustry.com

INDUSTRY Add: 3F, No. 647 East Long Hua Road, Shanghai, 200023, P.R. China



SMNEZFDR~T LAYOUT & DIMENSIONS

——
2

A—-A

4R~ Mounting Dimensions (mm)

JMFZRT Overall Installation Dimension

DH E AB  AC  AD L
71 11290 | 4515 | 14 *00% | M5*125| 30+0260 | 5 903 | 11 910 | 7195 | 779%% | 136 | 141 | 182 | 240
80 125 100 50+15 197000,  M6*16 | 40+0310 6 9o | 1559, | 80 95 1079°%° | 154 | 159 | 2065 = 282
90S | 140100 | 56+15 24 *2%0% ' M8+*19 | 500310 @ 8 9o | 20 9,0 | 90 9. 1 10%93%° | 172 179 | 229 | 320
90L | 140 125 56+15 @ 247000,  M8*19 | 50+0.310 8 §oc | 20 0,0 | 90 05 1070°%° 172 179 229 | 320
90LB| 140 | 125| 56415 | 24 *0007 | M8*19 | 50+0.310 8 Joi | 20 9, | 90 95 1 10°°% | 172 | 179 | 229 | 340
A=A
F DH .
——t - <T
S W
)
» S
el L YLJ-B5

24 R~ Mounting Dimensions (mm)

HMFZR~T Overall Installation Dimension

E F G M N AC  AD L
71 | FF130 14 "09% | M5+125) 30+0.260 | 5 9050 | 11 95, | 130 | 120%00%% | 160 | 10370 | 359 ., | 141 | 116 | 240
80 | FF165 |19 *000% | M6*16 | 40+0.310 | 6 O30 1559, | 165 | 13070003 | 200 ' 123°*° 359,01 159 | 1265 | 282
90S | FF165 |24 *05%% | M8*19 | 50+0.310 8 §.sc | 20 9,0 | 165 | 13070017 | 200 | 12%5°4° [ 359 0| 179 | 139 | 320
90L | FF165 |24 "000  M8*19 | 50+0.310 8 9.5 20 O, 165 13070017 200 127°%° 1359 .0 179 | 139 | 320
90LB| FF165 |24 *000: | M8*19 | 50+0.310 | 8 & 56 | 20 9,0 | 165 | 13070017 | 200 | 1273°%° 359 .| 179 | 139 | 340
A=A
‘ F,
: — -
- 7N
A | (6]
bl = = o
= = é ;
Eh TR
T L YLJ-B14 M
f%ﬁj MOUnting Dimensions (mm) AMIZR~F Overall Installation Dimension
E G Y AC  AD L
71 | FT85 | 14 700% | M5*12.5 | 30£0.260 | 5 9030 | 11 510 | 85 | 70 3057 | 105 | M6 | 250, | 141 | 116 | 240
80 | FT100 | 19 000 | M6*16 | 40+0310 | 6 95 1550, | 100 | 80 *0002 120 | M6 | 3.0 9., | 159 | 1295 | 282
+0.009 * 0 0 +0.013 0
90S | FT115 | 24 *3%% | M8*19 | 50+0310 | 8 95 | 20 5,0 | 115 | 95 093 1140 M8 309, 179 | 139 | 320
90L | FT115 | 24 057 | M8*19 | 5040310 ' 8 §pse | 20 9,0 | 115 95 *0003 140 | M8 | 3090, 179 | 139 | 320
90LB| FT115 | 24 *0557 | M8*19 | 50+0.310 | 8 §o5e | 20 9,0 | 115 | 95 *0003 1 140 | M8 |3.09,,, | 179 | 139 | 340

U ERERRSE, TREZREH.



